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https://1drv.ms/b/sl Avl 7wzKf6QBjgQoPVHTRY 2sFeft3 QUESTION 1What are the two views of the SAP HANA Analytics Frame
work for the SAP Business Suite? There are 2 correct answers to this question.Response: A.  Provided by SAPB. Enhance
VirtualizationC. Built by customerD. Migrate to HANA Answer: AC QUESTION 2Which type of objects can you view using
the SAP HANA Live Browser? There are 3 correct answers to this question.Response: A. Private viewsB. Calculation viewsC.
SAP HANA analytic privilegesD. Query viewsE. Extended views Answer: ABD QUESTION 3What are the three main
components of Semantically Partitioned Objects (SPOs) allow users to create a semantic partition once and use it repeatedly?There
are 3 correct answersto this question.Response: A.  Master ProvidersB. InfosourcesC. Part ProvidersD. Cluster DataE.
Infobeans Answer: ABC QUESTION 4When Data Store objects can only be converted to SAP HANA optimized Data Store
objects? There are 2 correct answersto this question.Response: A.  Allow faster modeling.B. They are not part of a Hybrid
ProviderC. Increase the amount of storageD. They are not supplied with data using real-time data acquisition Answer: BD
QUESTION 5Thetable for active datais atemporal table that consists of three components. What are they? There are 3 correct
answersto this question.Response: A.  MaintableB. Entry tableC. DeltatableD. History tableE. Log table Answer: ACD
QUESTION 6Which rules can you define in an SAP Landscape Transformation (SLT) transformation process? There are 2 correct
answers to this question.Response: A. Log-based rulesB. Parameter-based rulesC.  Trigger-based rulesD. Event-based rules
Answer: BD QUESTION 7How can you select a composite provider to view last accessed before a certain date? Please choose the
correct answer.Response: A.  AnalyticindexB. Loca providerC. Unlock workspaceD. Clear workspace Answer: D
QUESTION 8Which objects can you use to go from a persistent to alogical data warehouse based on new layered scalable
architecture (LSA++) for SAP Business Warehouse 7.4? There are 2 correct answers to this question.Response: A.  Virtual key
figuresB. New Eclipse-based Composite ProviderC. Open ODSviewD. Virtual Provider Answer: BC QUESTION 9The
database-dependent part of the SAP database interface can be found in its own library and dynamically linked to whom?Please
choose the correct answer.Response: A. SAPBWB. SAPBWAC. SAPTERPD. SAPKernel Answer: D QUESTION 10To
which class of provider isaMultiProvider assigned in a workspace? Please choose the correct answer.Response: A. localB.
centraC. virtualD. composite Answer: B QUESTION 11Which of the following is not afeature of Agile Data Mart Layer and
BW Workspace Layer? Please choose the correct answer.Response: A.  Resulting LSA++B. Reducelayer sizeC. Migrate to
HANA ?optimize objectD. Streamline EDW core Answer: B ''!RECOMMEND!!!  1.Braindump2go|2016/11/7 New
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